
set 0 AREA:  Sharon  start=48557 tc = 94 numrows = 10
numcols = 60 cyl_size 94 comp = 6.000000e+002 (1,1)

Sharon will fall oexy leti on (from) a crisis (of) xayn lr

from hemorrhage uayn terrible mi`n

(in) (5)766 eqyz uprooting dxiwra

1/33:08xn`inkllkdpgnddfdxy`izybtxn`ie`vnlpgraiipipc`xn`ieeyryiilax`1/33:09

1/33:10pgkipirazgwleizgpniciniklrpkizi`xkiptz`xktipnidl`ipvxzegw`p`1/33:11

1/33:11lxvtieeagwiexn`iedrqpdklpedkl`ekcbplxn`ieil`eipc`rciikniclid1/33:13

1/33:13eznlkp`vdxari`pipc`iptlecarip`edldpz`ih`llbxlndldk`xy`iptlle1/33:14

1/33:15eydbiv``pknrpnnrdxy`iz`xn`iednldf`vn`pgipiraipc`ieyaneia`edd1/33:16

1/33:17eedpwnldyrqzklrpk`xwynnewndekqz`aieawrinlyxirnkyxy``axvprpka1/33:18

1/33:19dcyxy`dhpnyeld`cinipaxengia`nkyd`nadhiywienyavgafn`xwielel``1/33:20

1/34:01ze`xzepaavx`d`xiedz`nkypaxengiegd`iypvx`dgwiedz`akyiedz`riep1/34:02

1/34:03xaclralxrpdxn`ienkyl`xengeia`xn`lgwilz`dclidz`fddy`lawrierny1/34:05

1/34:05dgxyirwarca`neiv`gnex`aiykn`lirawxaclez`ipaeawrie`apndcydnyk1/34:07

        97 pexyleti
          2 xaynlr
          2 dxiwrani`n
          1 vayn
        10 eqyz


